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1. Convert70.1Mgto grams: 70 100 000 3tawS
2. Convert 0.0009177 L to pL: q \7 ?

3. Inthe measurement 302300 g which digit is estimated? -H'“z S?CO/\O‘ ‘3

‘.

4. What are the correct names of these two pieces of lab equipment?

a) item 1 is a ‘()eaker 4
b) item 2 is O\ g\ agk (é—t‘é:;{zl\

AN A e

Use the syllabus for these questions. If a statement is correct, simply write CORRECT in the blank. If false, write a word or phrase to

replace the word in the underlined portion to make the statement true. Two of the questions shown below will be on the test. No other
rial from the syllabus will be on the test.

u

The biggest percentage of your grade in chemistry comes from tests.

TRy

6. Chemists study just two things: matter and how it changes.
o poakdegg cbwg\?fla/d %e@“ﬁj
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7. The final exam in June does not cover material from first semester.

doe

8. If absent you must make up missed lab day.
uow doi’ nead
9. If absent 1ou must maki up a missed test.
+rtue |

10. If absent you must makegip a missed quiz .

ou  Aont need o




11. Mr Genest is here tp give help every day a erschood
OTO\Q (S
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12. Mr. Genest is here foH{eIp two days a week at lunch. ~
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15.What is the density of water in g/mL? Write a “For every...” sentence for this fact:

\ QWMAL \\rar Q\){/’ﬂ‘ A ot wofer

Ahere s 1 qnl
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13. Estimate the level of liquid in the four containers. Remember: read between the lines and add only
ONE MORE digit

3.2

\
14. What equipment have you used in our room to measure mass? ’\'L‘{ el éa’m'c- S.CAe

15. What equipment have you used in our room to measure volume?
16.1If the box at left contains atoms of iron in steel wool, represent the atomic structure

e raddy
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the steel wool after strong heating in the box at right. Remember, steel wool seemed to

gain weight after it was heated.
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17.What was the change of mass in each experiment we did?

Experiment Was the change of mass (-/0/+)?
Alka Seltzer fizzing =

White precipitate forming [6)

Iron burning BN
| Sugar dissolving [®)

18.Use words or a picture to explain the result for the alka seltzer fizzing:




19.The 8t period chemistry class produced the following graph when they plotted the
volume of water in mL vs. the volume of the container measured in cm3.

EE
Linear Fit for: water | vol
TV = mVib eI
m (Slope): 0.995 mL/cm*
b (Y-Intercept): -11.5 mL |
Correlation: 1.00
RMSE: 2.62 mL

vol (mL)

-3

volume (cm?) 4

14

What does the slope of the above graph i:ell y?u? ;
T sens e mbilides pert cu Lo e
Memphize  Hwd |cw oF onyThin = |mL

16. Block A and Block B have the same mass.
Object A has a lower volume than Object B. Fr BisS
Object A is ( less /m@ dense than Object eranis

Object C and Object D have the same volume.
Cis 15 Dis 14 Object C has a higher mass than Object D.
grams grams Object C is ( less J/m dense than Object D.

Object E and Object F have the same density.

Object E has a lower mass than Object F. :
Object E has a volume that is / higher ) than the volume of Object F.
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20.The 9t Hr chemistry class produced the following graph when they were measuring the
mass and volume of a set of objects in the lab.

J | |
= 115000 WG, w0 (1T SO P 1 e 200 T dali ;
1 |Linear Fit for: substance A | mass ! !
1 M = mV+b ' |
| . 3 !

15_1_ Ir1-u(.">lope). 0.900 g/cm A

‘b (Y-Intercept): -0.420 g
| Correlation: 0.998

-k
’
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g ‘mse 0.479g
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Fer queshion 17 |
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volume (cm?)
a. Calculate the slope. I USQDl +6‘- po \‘K}’ A ' 0

(o 'A ha(
Slope =44.-53-09a _ . g2 3 Lelope withe)
Gpnt - Ount s gjm
b. What information is given by the slope of the graph?
The clu\sﬂb (Sm Me uats ace ™SS une
c. If you put one of the objects from this experiment into water would it sink or floft? Why?

avSc | olQI\c s kess :
F‘O&\m \oef,,;}e s+ . ole/t; IS(See question 15),

d. Write a "For every..." sentence for thls substance.

t\N O
Ng@%g& FOQ- EVE‘N é ml Hhere axce g S(WS «
Y Fo ng(Z\( O 85400 Hhee a2 | ml:

e. Use the information in your For Every sentence to mathematically calculate what the mass
would be of a 450 mL piece of this

150mL x, (083 % Bmg’f L) qraws

f. Draw a line in the graph above to show what the volume would be of a 12 milliliter sample
of this substance. Do not use mathematical calculation to solve this question.
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How do chemists know what a mystery | wame ’ f gl ’(
substance is? Date

X 208 Test 1 is Wednesda
For Test 1 review all the notes and homework with the help of http://genest. weebly.com Y

centasi

el A SR 3 o~
Uranium. U: atomic mass 238.029; atomic ny
6+_, 5+, 4+, 3+, Occurrence in the earth’s crus

mber 92; oxidation states
t2 x 107°%; melting

ductile, and can be polished. Half-life of the i i

;125: x 10° years. Specific heat is 0.117 Jlg-(‘)J";2;](:;3:3:):'!t ?Sseu')i
15‘.:>_l1<.1/rr‘ml, heat of vaporization 460 kJ/mol. Burns in air at’

: 75°C to form U,0,. When finely powdered, i
in cold water, more quickly in hot water. Bumns in f
a green, volatile tetrafiuoride: also burns in chlori
and iodine. Reacts with acids with the liberation of hydrogen 'and

the formation of salts wi idati
by b ts with the 4+ oxidation state, Not attacked

R

Element density[g/mL]
Aluminum 2.70
Titanium 4.54
Zinc. 7.13
Tin 7.31
Iron 7.87
Nickel 8.90
Copper 8.96
Silver 10.50
Lead 11.35
Mercury 13.55
Uranium 19.10

:,7I Gold 1930

/ 1. Based on the above information, tell what pieces of lab equipment from our room you
/ would need to determine whether a bullet were made of Uranium:

[ Saduddedlnder o Scole W

t : 2. If you found a ring, in a locked chest, under a mountain, in a dragon's lair, behind the
\ PDQ, and you took mass and volume measurements, you might find the folloij:
\ DATA: MDShoet 4o flad e voluwe
\ Mass: 1528g -~ o e 1, l 4
\ Final volume: 43.7 mL Y 2, ! 2 s = -5”‘
\ Initial volume: 422 mL.  _- 1o\ i e
\ Volume of ring: #b_gm?l_ (2)ders ‘%ﬂ ' W_U_‘%,M
Density: 10.2-. ML, Ve a
" ol 538 0.1
What material is the ring made of? s P R

Oa Yhis cart Txs  C loses 4o S) LY?@



3. If you were on a werewolf tour, walking near Timisoara, Romania and found several
large bullets, and measured their mass and volume, you might get the graph above.
Chemical tests show that the bullets are all three made of the same pure element. Draw a
best fit line that takes into account the point (0,0) and your three data points (4)
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a. What is the slope of the graph? C00SE AW ARD 1TRARY POt NT JNUQ M:)
3’91. 352 v
ML

b. We didn't measure (0,0), why are we allowed to include it in our data?

A volume of nould!

hove o Magg 2efle

c. Are these bullets effective against werewolves? §_‘)_<ﬁ|:m (\ _’r
The deasy i .5 9 ol The Coo 51 :
+his Yseifher +in or  Tron. Slace They'r®
d. Why are these data points not all in a straight line? net st ver wemwo(“‘?é{
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